

052 n. 1640 Facultät 5 PS

$$f = e^{\alpha x} (P(x) \cos(\beta x) + Q(x) \sin(\beta x))$$

• $y'' + ay = 8 \cos x$

$y(0) = 2 \quad y'(0) = 0$

• $y' + ay = 0$

$\lambda^2 + a = 0$

$\lambda = 0 + 3i \quad \lambda = 0 - 3i$

• $y_h = e_1 e^{\alpha x} \cos(\beta x) + e_2 e^{\alpha x} \sin(\beta x)$

$x \in \mathbb{R} \quad c_1, c_2 \in \mathbb{R}$

• $8 \cos x = e^{0x} (8 \cos(1x) + 0 \sin(1x))$

$S + P = 0 = S + Q$

$y_p = x^0 e^{0x} (A \cos(1x) + B \sin(1x))$

$(\alpha + i\beta) = 0 + 1i = i$

$\parallel \beta = 3i \parallel \quad m = 1 \parallel$

$\& i \text{ Ziffer?} \rightarrow m = 0$ Neu!

$y_p = A \cos x + B \sin x$

$y_p' = -A \sin x + B \cos x$

$y'' + ay = 8 \cos x$

$y_p'' = -A \cos x - B \sin x$

Das setzen

$-A \cos x - B \sin x + A \cos x + B \sin x = 8 \cos x + 0 \sin x$

$\cos x: \quad -A + A = 8$

$A = 1$

$\sin x: \quad -B + B = 0$

$B = 0$

$y_p = 1 \cos x (+ 0 \sin x)$

Daher

$y = y_h + y_p = e_1 \cos(3x) + e_2 \sin(3x) + \cos x \quad x, c_1, c_2 \in \mathbb{R}$

P.P. $y(0) = 2 \quad y'(0) = 0$

$y' = e_1 (-\sin(3x)) \cdot 3 + e_2 \cos(3x) \cdot 3 - \sin x$

$2 = y(0) = e_1 \cdot 1 + e_2 \cdot 0 + 1$

$0 = y'(0) = e_1 \cdot 0 + 3e_2 - 0$

$$2 = c_1 + 1$$

$$0 = 3c_2$$

$$\underline{c_1 = 1 \quad c_2 = 0}$$

Resolvi SP.P.

$$\underline{y = 1 \cos 3x + \cos x} \quad x \in \mathbb{R}$$

Resolvi.

$$y' + y = x + \sin x$$

$$y'' + y = 0$$

$$y'' + y = x$$

$$y'' + y = \sin x$$

y_H

y_{P1}

y_{P2}

$$y = y_H + y_{P1} + y_{P2}$$

$$y'' - 2y' + y = \frac{e^x}{x}$$

$$x \neq 0 \\ x \in (-\infty, 0) \quad (0, \infty)$$

$$\bullet y'' - 2y' + y = 0$$

$$\lambda^2 - 2\lambda + 1 = 0$$

$$(\lambda - 1)^2 = 0$$

$$\lambda = 1 \quad 2\text{-mal}$$

$$y_H = c_1 e^{1x} + c_2 x e^{1x}$$

• Variablenkonstant

$$y_P = c_1(x) e^x + c_2(x) x e^x$$

$$y'_P = \underline{c'_1(x) e^x} + c_1 e^x + \underline{c'_2(x) x e^x} + c_2 (e^x + x e^x)$$

$$\text{TKK} \quad e'_1 e^x + c'_2 x e^x = 0$$

$$y'_P = e'_1 c^x + c_1 e^x + e'_2 (e^x + x e^x) + c_2 (e^x + e^x + x e^x)$$

$$e'_1 e^x + c_1 e^x + e'_2 (e^x + x e^x) + c_2 (e^x + x e^x) - 2(c_1 e^x + c_2 (e^x + x e^x)) + e'_1 e^x + c_2 x e^x = \frac{e^x}{x}$$

$$e'_1 e^x + c_2 x e^x = 0$$

$$e'_1 e^x + c_2 (e^x + x e^x) = \frac{e^x}{x}$$

$$0 + 0 + c_2 e^x = \frac{e^x}{x}$$

$$c_2 = \frac{1}{x} \quad c_2 = \ln|x| + k_1$$

$$e'_1 e^x + \frac{1}{x} x e^x = 0 \quad e'_1 e^x = -e^x \quad e'_1 = -1 \quad c_1 = -x + k_2$$

$$\text{allgemein: } y = \underline{(-x + k_2) e^x} + \underline{(\ln|x| + k_1) x e^x}$$

$$x \in (-\infty, 0)$$

$$x \in (0, \infty)$$